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Abstract

In an earlier paper, we showed that Cl-loops and quasigroups with long
inverse cycles have certain properties which make them particularly ap-
propriate for use in cryptography. The same is true of the generalized
structures called m-inverse loops and quasigroups. Here, we investigate
the existence of such structures (initially for small orders).

I. Introduction

A finite quasigroup (Q, o) of order n consists of a set @) of symbols on which a binary
operation (o) is defined such that (i) for all pairs of elements a,b € Q, aob € Q
(closure) and (ii) for all pairs a,b € @, there exist unique elements x,y € @ such
that zoa =b and aoy = b (unique solubility of equations).

If there exists an element e € @ such that, for all a € ), eca =a =aoe
(existence of a two-sided identity element), the quasigroup is a loop.

A quasigroup may satisfy some or all of the following inverse properties:

(i) for each a € Q, there exists an element a;* € @ such that a;' o (aob) = b for
all b € Q (the left inverse property);

(ii) for each a € Q, there exists an element ap' € @ such that (boa)oaz' =1b
for all b € @ (the right inverse property);

(iii) for each a € @, there exists an element a, € @ such that ajo(boa) = b for
all b € Q (the left crossed-inverse property);
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(iv) for each a € @, there exists an element af, € @ such that (a0 b) oap =b for
all b € Q (the right crossed-inverse property).

A quasigroup which satisfies (i) and (ii) is called an inverse-property quasigroup.
Omne which satisfies (iii) and (iv) is called a crossed-inverse-property quasigroup (or,
for brevity, a CI-quasigroup). For a quasigroup which is commutative, (i)<(iii) and
(ii)<(iv) so the inverse and crossed inverse properties coincide.

A quasigroup or loop (Q,o) of finite order which has the left crossed-inverse
property also has the right crossed-inverse property; and conversely. So a quasigroup
which has either one of these properties is a Cl-quasigroup. For such a quasigroup,
the mapping J: a — a; is a permutation of the elements of ). (For a proof of these
remarks, see Lemma 1.1 of [4].)

In [3], Karkliniish and Karklin have generalized the concept of a Cl-loop to what
they have called an m-inverse loop. We can generalize the concept of a Cl-quasigroup
in a similar way as follows:

Suppose that there exists a permutation J of the elements of a quasigroup (@, o)
such that, for all a,b € Q, (a0 b)J™ o aJ™ ! = bJ™. Then (Q,0) is an m-inverse
quasigroup. In particular, a Cl-quasigroup is a 0O-inverse quasigroup. When the
permutation J is written in the form of a product of cycles, these cycles are called
the inverse cycles of the m-inverse quasigroup.

By an m-inverse loop (L, o) we shall mean an m-inverse quasigroup with identity
element e such that eJ = e. Then, putting b = e in the relation (a0 b)J™ o aJ™ =
bJ™, we find that aJ™ o aJ™! = e for all elements a € L. Let b be an arbitrary
element of the loop. Then there exists an element a € L such that aJ™ = b. But,
aJ™oaJ™! =e. That is, bobJ = e for all b € L. (This agrees with the definition
given in [3].)

In [4], it was shown that Cl-quasigroups with long inverse cycles have a role to
play in cryptography and the same is true of m-inverse loops and quasigroups. The
purpose of the present paper is to determine for which orders m-inverse loops and
quasigroups with a long inverse cycle exist.

We first investigate the existence of m-inverse loops. Since every loop of order
less than five is a group, we need only consider loops of orders n > 5.

R. Artzy[1] has shown that O-inverse loops of order n > 3 with an inverse cycle
of length n — 1 do not exist so an m-inverse loop (m > 0) which has such a maximal
length cycle cannot satisfy the crossed-inverse property. We say that an m-inverse
loop which is not also an (m — 1)-inverse loop is proper so, in particular, a 1-inverse
loop which has a single long inverse cycle of length n — 1 must be proper.

II. The existence of proper m-inverse loops with a
long inverse cycle, m > 1
We may suppose without loss of generality that the elements of Q are e, 0,1,...,n — 2,

where e is the identity element, and that the notation is chosen so that J =
(e)(01 --+ n—2): that is, so that (0 1 --- n — 2) is the long inverse cycle. Then
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aJ=a+1 mod (n—1)forae{0,1,...,n—2} and eJ =e. Also, aoaJ = e: that
is,ao(a+1)=e mod (n—1).

For a,b,c#e,aob=c= (a—m)J"o[b— (m+ 1)]J™! = (c —m)J™.

But, ([p — (m + )] o (¢ = m))J™ o [b— (m + 1)]J™ = (¢ — m)J™ by the m-
inverse property. So, [b — (m + 1)] o (¢ —m) = a — m. Iterating this result, we have
aob=c=[b—(m+1)]o(c—m)=a—m=[c—(2m+1)]o(a—2m) =b—(2m+1)
=la—Bm+D]o[b—Bm+1)]=[c—Bm+1)].

Thus, J>"! is an automorphism. In fact, J*"*! is an automorphism of any
m-inverse loop, as was first pointed out in [3].

For an m-inverse loop of order (3m + 1) + 1, the relation [a — (3m + 1)] o [(b —
(3m+1)] = [c— (3m + 1)] is equivalent to a o b = ¢ since, in such a loop, arithmetic
of elements is modulo 3m+1. (The 1-inverse loops of order 5 and the 2-inverse loops
of order 8 exhibited later in this paper are examples.)

For an m-inverse loop of order n, where n — 1 is relatively prime to 3m + 1, the
implication aob=c = [a— (3m+ 1)]o[(b— (3m+1)] = [c— (3m + 1)] leads to the
implication aob = ¢ = (a+h)o(b+h) = (c+h) for all integers h because there exist
integers r, s such that r(n—1) —s(3m+1) =1 and so —s(3m+1) =1 mod (n—1)
whence a —s(3m+1)=a+1,b—sBm+1)=b+1,¢c—sBm+1) =c+1. By
iteration, the result follows. Thus, in this case, J itself is an automorphism of the
loop. It also follows that such a loop is (m + {)-inverse for all positive integers I.

Lemma 2.1 In an m-inverse loop (with a long inverse cycle) of order n, where n—1
is relatively prime to 3m+1, Ooh = k (for h, k # e) implies that 0o(k—h+1) = (n—h)
and that 0o (n — k) = (h— k).

Proof. 0oh =k = [h—(m+1)]o(k—m) = (n—1)—m mod (n—1) = 0o(k—h+1) =
(n—h) by adding m+ 1 — h to each element. That is, 0o h = k = 0o hy = ki, where
hi =k —h+1 and k; = n — h. Iterating this implication yields the desired result.
(Note that hy = h mod (n — 1) and that k3 = k.)

Corollary 2.2 When n — 1 is relatively prime to 3m + 1 in an m-inverse loop of
order n with a long inverse cycle, 0 0 2 = v is always impossible for v =1 and is
impossible for v =3 unless n = 5.

Proof. 0o2=v=00(v—1)=n—2and0o(n—v)=n+1—v mod (n—1) by
the Lemma. So, when v =1, we have 002 =1=000=n—2and 0o (n—1) =n
or 0 o0 = 1. The equalities 002 =1 and 0 o 0 = 1 are contradictory. When v = 3,
we have 002 =3 =002 =n—2and 0o (n —3) = n — 2. These are mutually
contradictory except when n = 5.

(a) m-inverse loops of order 5 with an inverse cycle of length 4.

Here, Q = {e,0,1,2,3} and J = (¢)(0 1 2 3). Suppose that 0 02 = v. Then
v #0,2 and, since 0o 1 =e,v # e.

When 3m + 1 is relatively prime to four, v = 1 is impossible by Corollary 2.2
so v = 3 is the only possibility. This case occurs only when m = 2 in the present
situation since an (m +4)-inverse loop is an m-inverse loop because J* is the identity
mapping.
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In fact, proper m-inverse loops of order five with m > 1 do not exist, as we shall
show. However, there exist four isomorphically distinct proper 1l-inverse loops of
order five. We may show this as follows:

Putting 0 0 0 = w and using the relation aob =c= (b—2)o(c—1) = (a—1)
mod 4, we find that 20 (u+3) = 3 and that (u+1) 02 = 1. Clearly, u # 0 or e since
these two elements already occur elsewhere in row 0 of the Cayley table of the loop.

(See Figure 2a.1.)

(0)|e 0 1 2 3
e le 01 2 3
0 [0 u e
1 |1 e
2 12 e
3 |3 e

Fig. 2a.1.

We find that the remaining values of u define proper 1l-inverse loops as follows:

Try v = 1. Then 200 = 3 and 202 = 1. The Cayley table is uniquely completable
as is shown in Figure 2a.2. (The integer superscripts indicate one order in which the
cells may be filled.) To check that the table gives a 1-inverse loop, we require the

following relations to hold:

0ol=elo2=¢203=¢;and300=c¢ ) |

002=3=002=3

003=2=101=3=302=0=003=2
1c0=2=201=0=303=1=100=2

1lo3=0=103=0

200=3=202=1=000=1=200=3

3ol=2=301=2

e 0 1 2 3

e le 0 1 2 3

00 1 e 3% 28

11 28 3 e 0°

2 12 3 0 1 e

313 e 22 0° 17
Fig. 2a.2.

So the table defines a proper l-inverse loop of order five. [We may easily check
that it is not a 0-inverse loop. For example, (202)02J =103 =0 # 2]

Try w = 3. Then 202 = 3 and 002 = 1. The Cayley table is uniquely completable
as is shown in Figure 2a.3. To check that the table gives a 1-inverse loop, we require

the following relations to hold:

Qol=elo02=¢203=¢e;and300=c¢ (O)|e g 1 ; g
002=1=000=3=>202=3=002=1 8 8 5 [ o
0o3=2=101=3=302=0=003=2 A .

1|1 20 3 ¢ 0
1o00=2=201=0=303=1=100=2 , Dy

2 12 12 03 3 e
lc3=0=103=0 3 |3 2% ol 17
200=1=200=1 ‘
sol=2=3cl=2 Fig. 2a.3.
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So the table defines a proper 1-inverse loop of order five.

Try w = 2. Then 201 =3 and 302 = 1. The Cayley table completes uniquely
to the partial form shown in Figure 2a.4. This has two completions. We need to
check whether either completed table represents a 1-inverse loop. In fact, we find
that both completed tables represent proper 1-inverse loops of order five with a long
inverse cycle.

In particular, 101 =0=303=0=103=2=10ol=0and 301 =2=
301 =2. On the other hand, 1c1=2=301=0=303=2=101=2 and
lo3=0=103=0.

(0)Je 0 1 2 3

e le 0 1 2 3

00 2 e 38 12

111 3 - e -

2 12 13 35 0% e

313 e 17
Fig. 2a.4.

We conclude that, up to isomorphism, there exist just four distinct proper 1-
inverse loops of order five with a long inverse cycle.

As regards the existence of 2-inverse or 3-inverse loops, we have 0 0o 0 = u =
lo(u—2)=2= (u—1)o0 =3 for a 2-inverse loop. If u =1,000=1=000=3.
Ifu=2000=2=100=2 Ifu=3,000=3= 200 = 3. Each of these
implications is contradictory.

For a 3-inverse loop, 000 = u = —4o(u—3) = =3 = (u—T7)o(—2) = —3. That is,
0c0=u=00(u+1l)=1= (u+1)o2=1.Ifu=1,000=1=002=1. Ifu=3,
0o0=3=000=1. Each of these is contradictory. If u =2,000=2=003=1
and 302 = 1. We find that we obtain the partial Cayley table given in Figure 2a.4.
However, 101 =0= -30—-3=—-2o0orlol=2andlol=2= —-30—-1=—-2o0r
103 = 2. Both are contradictory.

(b) m-inverse loops of order 6 with an inverse cycle of length 5.

We assume that J = (e)(012 --- 4) and that 002 = v, v # 0,2 or e as usual.
Arithmetic is modulo 5.

When n — 1 = 5 is relatively prime to 3m + 1: that is, when m # 5h + 3,
Oo(v—1)=4and 0o (6 —v) =2 — v by Lemma 2.1. Also, J is an automorphism
of the loop.

We have v # 1 or 3 by Corollary 2.2. If v = 4, the equalities 0 0 2 = v and
0o (v—1) =4 contradict each other. Thus, no 1, 2 or 4-inverse loops of order 6 with
a long inverse cycle exist.

For a 3-inverse loop, the automorphism J'° is the identity because J° is the
identity. We have aob=c= (b—4)o(c—3)=(a—3) = (¢c—2)o(a—1)= (b—2) =
aob = c so, in general, an entry c in cell (a,b) determines the entries in two other
cells. However, ao(a—1)=(a+2)=ao(a—1)=(a—3). Sincea+2=a—3

103



mod 5, an entry a + 2 in cell (a,a — 1) determines no others. All together, there are
20 = (6 x 3) +2 cells to be filled so just two of the cells of type (a,a— 1) must contain
a + 2. An example of a 3-inverse loop for which 0 0 2 = 1 is given in Figure 2b.1.

(0)J]e 0 1 2 3 4 0o02=1=303=2=404=0
e le 01 2 3 4 0o0=3=100=2=104=3
00 3 e 1 4 2 0o3=4=401=2=204=1
1 (1 2 4 e 0 3 1o3=0=402=3=300=1
212 4 3 0 e 1 lol=4=201=3=200=4
313 1 0 4 2 ¢ 202=0=>302=4=301=0
4 14 e 2 3 1 0 0o4=2403=1

Fig. 2b.1.

(c) m-inverse loops of order 7 with an inverse cycle of length 6.
No such loops exist. We have the following more general theorem:

Theorem 2.3 m-inverse loops of order n = 3l + 1 with an inverse cycle of length
3l do not exist.

Proof. We assume that J = (e)(0 12 --- 3l — 1) so that arithmetic is modulo 3!.

In this case, n — 1 = 3l is relatively prime to 3m + 1 for all values of m, so
Och=k=00(k—h+1)=(n—h)=00(n—k)=(h—k) by Lemma 2.1. Also,
J is an automorphism of the loop.

Let us consider row 0 of the Cayley table of the loop. In this row, the cells (0, e)
and (0, 1) are already filled with the elements 0 and e respectively. So n —2 = 3[—1
cells remain to be filled. But, putting the entry & in cell (0,h) forces the entries
n—h=3l4+1—hand h—k in the cells (0,k — h+ 1) and (0,n — k) respectively.
Moreover, the three cells (0, k), (0,k—h+1) and (0,n— k) are distinct for all choices
of h and k. We may show this as follows:

The first two coincide only if k—h+1 = h and (3l+1—h) =k mod 3. The first
and last coincide only if (31 +1) —k = h and h —k =k mod 3. Each of these pairs
of equalities requires that 3h = 2 and 3k = 1 mod 3l. Both the latter congruences
are impossible.

Since there are 3/ — 1 cells to be filled in row 0 and this is not a multiple of three,
the Cayley table cannot be completed.

(d) m-inverse loops of order 8 with an inverse cycle of length 7.

We assume that J = (¢)(012 --- 6) and that 002 = v, v # 0,2 or e. Arithmetic
is modulo 7.

When n—1 = 7 is relatively prime to 3m+1, 0o(v—1) = 6 and 0o (8—v) =2—v
by Lemma 2.1. Also, J is an automorphism of the loop. Since 0o (v —1) =6, v # 3
or 6 otherwise 002 = v and 0o (v—1) = 6 are mutually contradictory. Furthermore,
v # 1 by Corollary 2.2. Thus, v #0,1,2,3,6 or e.

Ifv=4,002=4,003=06and 004 =5(= —2). Because J is an automorphism
of the loop, aob = ¢ = (a+h)o(b+h) = (c+h) and so the entries of the left-to-right
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broken diagonals headed by 0 02 =4, 003 =6 and 0 0 4 = 5 in the Cayley table of
the loop are all determined. In particular, 500 =2,400 =3 and 300 = 1. Then no
element for 000 exists (as is shown in Figure 2d.1) so the table cannot be completed.

If v =5, we have 002 =5,004 =6 and 0 03 = 4(= —3), whence 500 = 3,
300=2and 400 = 1. We again find that no element for 0 o 0 exists so the table
cannot be completed.

(0){e O 1 2 3 4 5 6
e |e O 2 3 4 5 6
010 (?) e 4 6 5 -

1 (1 - e 5 0 6
2 |12 - e 6 1 0
313 1 - 0 e 0 2
4 (4 3 2 - 1 e 1
515 2 4 3 - 2 e
6 |6 e 3 5 4

Fig. 2d.1.

Thus, no m-inverse loop of order 8 with a long inverse cycle of length 7 exists
when 3m + 1 is relatively prime to 7. However, existence when m = 7h + 2(= 2
mod 7) is possible. Let us consider, in more detail, 2-inverse loops of order 8.

We have J = (€)(0123456). Thenao(a+1)=e. Also,aob=c

= (b—3)o(c—2)=(a—2) = (c—5)o(a—4) = (b—5) = (a—T)o(b—T7) = (c—7T)

which is equivalent to a o b = ¢ since addition is modulo 7. Thus, in general, each
relation a o b = ¢ implies two others. Therefore, putting entry c in cell (a,b) forces
two other entries. However, ao (a+3) = a+5 = ao(a+3) = a—2. Since
a—2=a+5 mod 7, it is permissible to put the entry a + 5 in the cell (a,a + 3)
without contradiction but such an entry forces no others.

0c0=1 =406=5 =303=2

(0)Je 01 2 3 4 5 6 002=3 =60l=5 =503=4
e |le 001 2 3 4 5 6 0od=2 =100=5 =403=6
0]0 1 e 3 58 2 6 4 0ob=6 =204=5 =103=0
111 5 4 e 0 6 2 3 Qo6=4 =302=5 =603=1
212 6 3 0 e 5 41 lol=4 =502=6 =604=3
313 46 5 2 e 10 lo5=2 =200=6 =404=0
4 14 3 2 1 6 0 e 5 lo6=3 =301=6 =504=1
515 2 0 6 4 1 3 ¢ 201=3 =501=0 =505=3
6 |6 e 5 4 1 3 0 2 202=0 =605=0 =205=4

206=1 =306=0 =305=1
0o3=05;104=6;602=4 300=4 =402=1 =606=2

400=3 =401=2 =500=2

Fig. 2d.2.
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Since there are 42 = 49—7 cells to be filled with entries from the set {0,1,2,...,6}
and this is a multiple of three, either 0, 3, or 6 of the cells (a,a 4+ 3) must have an
entry of the form a+5. In our first example (which was originally given in [3] without
any explanation as to how it was obtained), just three of the cells (a,a + 3) have
a + 5 as entry (see Figure 2d.2). In the example of Figure 2d.3, none of the cells
(a,a + 3) have a + 5 as entry.

(0){e 01 2 3 4 5 6 0o0=1 =406=5 =303=2
e le 01 2 3 4 5 6 0o2=4 =602=5 =603=4
0]0 1 e 4 6 5 2 3 003=6 =004=5 =103=5
111 6 3 e 5 2 0 4 0ob=2 =200=5 =403=0
212 5 4 3 e 0 6 1 0o6=3 =30l=5 =503=1
313 45 6 2 e 10 lo0=6 =404=6 =104=2
414 3 2 1 0 6 e 5 lol=3 =50l=6 =504=3
515 2 6 01 3 4 e lo5=0 =205=6 =204=0
6 |6 e 0541 3 2 lo6=4 =302=6 =604=1

20l=4 =502=0 =605=3
300=4=402=1=606=2 202=3 =601=0 =5ob=4
400=3=401=2=500=2 206=1 =306=0 =305=1

Fig. 2d.3.

(e) m-inverse loops of order 9 with an inverse cycle of length 8.

We assume that J = (e)(0 12 --- 7) and that 0 02 = v, v # 0,2 or e as usual.
Arithmetic is modulo 8.

When n—1 = 8 is relatively prime to 3m+1: that is, when m is even, Oo(v—1) =7
and 0o (9 —v) =2 —wv by Lemma 2.1. Also, J is then an automorphism of the loop.

Neither v = 1 nor v = 3 is possible by Corollary 2.2. If v =4,002=4,003=7
and 0ob5=6. Ifv=5002=5 004=7and 004 =5; a contradiction. If v = 6,
002=6,00b=T7Tand 003 =4. Ifv=7,002=7,006="7and 002 = 3; which
are contradictory. Thus, when m is even, v = 4 or 6 are the only possibilities.

Since in general, by Lemma 2.1, the entry k in cell (0, h) determines the entries
in two other cells of row 0 and since there are all together seven cells of this row to
be filled (see Figure 2e.1), one cell (0, 2) must have an entry & such that it coincides
with the cells (0, k—h+1) and (0,n—k). Such a coincidence occurs only when h = 6
and k = 3. Thus,if002=4,003=7and 0o5=6o0rif0o2=6,005=7 and
003 =4, we must also have 0 0 6 = 3. To complete the entries of row 0, we require
00 0 = w where w is such that the elements w + 1 and 9 — w are 4 and 7 since the
two remaining cells to be filled are (0,4) and (0,7). No such element w exists. We
conclude that no 2, 4 or 6-inverse loops of order 9 with a long inverse cycle exist.

e 001 234567

ele 01 2 3 45 6 7

010 e - - ...
Fig. 2e.1.
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We look next at 1-inverse loops. For a,b,c e, aob=c= (b—2)o(c—1) =
(a—1) = (¢=3)o(a—2) = (b—3) = (a—4)o(b—4) = (c—4) or (a+4)o(b+4) = (c+4)
since addition is modulo 4. That is, J* is an automorphism. Since J® is the identity,
the multiplication of such a loop takes the form shown in Figure 2e.2.

e 01 2 3 4 5 6
0 1 2 3 : 4 5 6

=W NN = O 0
VI R =

B+4 | At4

~N O Ot
~N O Ot

Fig. 2e.2.

However, we need to analyse the structure more precisely. In general, the entry
in the cell (a,b) determines five other entries as follows:

aob=c (b—2)o(c—1)=a—-1 (c=3)o(a—2)=b—-3
(a—4)o(b—4)=c—4 (b+2)o(c+3)=a+3 (c+1)o(a+2)=b+1
Butao(a—2)=c=(a—4)o(c—1)=(a—1)= (¢c=3)o(a—2) = (a—5) so,

if ¢ = a + 3, only two of the above six equalities are distinct. We have

ao(a—2)=a+3= (a—4)o(a+2)=(a—1) = ao(a—2) =a—5(=a+3 mod 8).

In the Cayley table of the loop, there are 64 — 8 = 56 cells to be filled which do not
contain the identity element e. Since 56 — 2 or 56 — 8 are divisible by 6, either two
or all eight of the cells of type (a,a — 2) must have entry a + 3.

We note further that ao(a+2) =c=ao(c—1)=a—1soc=a+3andc=a—1
respectively contradict the unique solubility for x of the equations a o (a + 2) = x
and aox = a—1. Thus, a cell of type (a, a+ 2) must not contain either of the entries
a+3ora—1.

e 0 1 2 3 4 5 6 7
ele 0 1 2 3 4 5 6 7
0/|0 6 e &6 1 7 4 3 2
1171 7 4 e 5 0 3 2 6
212 5 3 4 e (7)) 6 70
313 2 6 0 7 e 1 5 4
414 3 0 7 6 2 e I 5
5/ 4 7 6 2 3 0 e I
616 (?7) 2 3 4 1 7 0 e
T\7T e 5 1 0 6 2 4 3

Fig. 2e.3.
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Taking the above facts into consideration, our attempts to fill in the Cayley table
by intelligent trial and error failed to yield a complete table but we were able to obtain
two “almost” solutions. (One of these is shown in Figure 2e.3.) There appears to
be no a priori reason why such loops should not exist despite the severe constraints
just described.

It remains to resolve the much harder question of whether proper 3, 5 or 7-inverse
loops of order 9 with a long inverse cycle exist.

(f) m-inverse loops of order 10 with an inverse cycle of length 9.
No such loops exist by Theorem 2.3.
(g) Summary of results regarding proper m-inverse loops, m > 0.

For all orders up to ten inclusive, proper m-inverse loops with a maximum length
inverse cycle do not exist when 3m + 1 is relatively prime to n — 1.

m-inverse loops of order n = 3] 4+ 1 with a maximum length inverse cycle do not
exist. (In particular, such loops do not exist of orders 7 and 10.)

For order 5, only 1-inverse loops exist. There are four isomorphically distinct
such loops.

For order 6, only 3-inverse loops exist.

For order 8, only 2-inverse loops exist.

For order 9, 1-inverse loops may exist. The existence of proper 3, 5 or 7-inverse
loops has not been investigated.

Our next theorem suggests that m-inverse loops with a maximum length inverse
cycle probably do not exist when 3m + 1 is relatively prime to n — 1 except possibly
when n is very large.

Theorem 2.4 An m-inverse loop of order n with (012 --- n — 2) as long inverse
cycle and with J = (€)(012 -+ n — 2) an automorphism can exist only if a cyclic
neofield of the same order n ezists.

Proof. We may write the Cayley table of the m-inverse loop in the form shown in
Figure 2g.1, where f o g = ay, for f,g € {0,1,...,n — 2}. Then, because J is an
automorphism of the loop, ;4141 = a;; + 1, where arithmetic of indices is modulo
n—1.

Let Then

P1 = Qo3 — Gp2- pll =p—1=ap— (GOQ + 1) = Qp3 — 13 = Ap—4,0 — An-3,0-
P2 = Qo4 — Go3- p/2 =p2—1=aps — (ao3 + 1) = Qo4 — @14 = Ap—50 — An—4,0-
P3 = Qo5 — Go4- pfo, =p3—1=aps — (ao4 + 1) = Qo5 — @15 = Ap—6,0 — An—5,0-

/
Pn—4 = Qopn—2 — QOn—3- Pp_gq = Pn—4 — 1= apn—2 — (a(],nf?) + 1) = a10 — A20-
/
Pn—3 = Qoo — do,n—2- Pr_g =Pn-3— 1 =ap — (apn—2+ 1) = ag — ap.
Since no two entries of the second row of the Cayley table are equal, no one of

the p;’s is equal to zero. Since no two entries of the last column of the addition
table are equal, no one of the p}’s is equal to zero. Thus, for each 7, p; # 0 or 1;
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so each p; € {2,3,...,n — 2}. Also, the partial sums p; = a3 — age,p1 + P2 =
Qo4 — a2, - -, Pr+P2et +Puda = Qo2 — 0oz, P1+ P2+ +Pu3 = dgo — dog are all
distinct and non-zero modulo n. Furthermore, the partial sums p} = a,—10 — an_3,0,
Dy + Dy = Ans50— An-30,---, 01 + Dy + -+ Ph_s = Goo — Gn-30 are all distinct and
non-zero modulo n.

e 1 2 3 e n—2 0
e e 1 2 3 . n—2 0
0 0 € ap2 o3 e ap,n—2 Qoo
1 1 a1 € 13 co a1n—2 a0
2 2 a1 a2 € ce a2 n—2 a20
n—3|n—3 ap31 Gun-32 Qn-33 € an-3,0
n—2|n—2 ap21 Gp 22 ap—23 - OAp—2n—2 €
Fig. 2g.1

We conclude that existence of an m-inverse loop of order n with (012 --- n —2)
as long inverse cycle and with J = (¢)(012 --- n — 2) an automorphism implies
that a subset of n — 3 (not necessarily distinct) residues modulo n — 1 from the set
{2,3,...,n — 2} can be arranged in a sequence P such that:

(i) the partial sums of the first one, two, ..., n — 3 elements are all distinct and
non-zero modulo n — 1; and

(ii) when each element of the sequence is reduced by one, the new sequence, P’
say, also satisfies (i).

But these are exactly the conditions for existence of a cyclic neofield of order n.
(See [2] or [5].) This proves the theorem.

Corollary. An m-inverse loop of order n with (012 --- n—2) as long inverse cycle
and with J = (e)(012 ---n — 2) an automorphism exists if a cyclic neofield of the
same order n exists whose addition table, f ®© g = ay, for f,g # e, satisfies the
further conditions that agy, = k implies that agx_py1 =n —h and agp_p =h — k.

Proof. The corollary follows directly from Theorem 2.4 and Lemma 2.1.

III. The existence of proper m-inverse quasigroups
with a long inverse cycle, m > 1

We shall suppose that the elements of Q) are 0,1,...,n — 1 and that the notation is
chosen so that the long inverse cycleis J = (01 --- n—1). Then aJ =a+1 mod n
and aob=c= (a—m)J™o[b— (m+ 1)]J"" = (c —m)J™.

But, ([b— (m+1)]Jo(c—m))J™o[b— (m+1)]J™ = (¢c—m)J™ by the m-inverse

109



property. So, [b — (m + 1)] o (¢ — m) = a — m. Iterating this result, we have

aob=c = [b—(m+1)]o(c— m)—afm
= [c—(2m+1)]o(a—2m)=b—(2m+1)
= [a—Bm+1)]o[(b—(Bm+1)]=[c— (3m+1)].

Thus, as was the case for loops, J>™*! is an automorphism of any m-inverse quasi-
group.

For an m-inverse quasigroup of order 3m + 1, the relation [a — (3m + 1)] o [(b —
(Bm 4+ 1)] = [e — (3m + 1)] is equivalent to a o b = ¢ since, in such a quasigroup,
arithmetic of elements is modulo 3m + 1.

For an m-inverse quasigroup of order n, where n is relatively prime to 3m + 1,
the implication aob=c = [a — (3m+ 1)] o [(b— 3m + 1)] = [c — (3m + 1)] leads
to the implication a ob = ¢ = (a+ h) o (b+ h) = (c+ h) for all integers h by an
argument exactly similar to the one we used for loops. Thus, in this case, J itself
is an automorphism of the quasigroup. It also follows that such a quasigroup is
(m + l)-inverse for all positive integers .

Lemma 3.1 In an m-inverse quasigroup (with a long inverse cycle) of order n, where
n is relatively prime to 3m + 1, 0o h = k implies that 0o (k —h+1)=(n—h+1)
and that 0o (n—k+1) = (n—k+h).

Corollary 3.2 When n is relatively prime to 3m + 1 in an m-inverse loop of order
n with a long inverse cycle, 0 0 2 = 3 is impossible unless n = 4.

Proof. The proof of the Lemma is exactly similar to that of Lemma 2.1. It follows
that 002 =3 = 002 =n—1and 0o (n —2) = n — 1. These equations are
contradictory except when n = 4.

(a) m-inverse quasigroups of order 4 with an inverse cycle of length 4.

Here, @ = {0,1,2,3} and J = (0123). Arithmetic is modulo four. As for the
case of loops, we shall suppose that 002 = v.

We shall show that proper m-inverse quasigroups of order four with m > 1 do
not exist. However, there exist many proper 1-inverse quasigroups of order four. We
may show this as follows:

We shall discuss only the case when 0 o2 = 1. We observe that 0 02 =1 =
000 =3= 202 = 3. These equalities require that 0o 1 =0 or 2 and that 102 =10
or 2.

Case (a). 001 =2=301=3=302=2, whence 102 # 2s0 102 =0 in this
case. When 0 o1 =2 and 102 = 0, the multiplication table completes to a unique
latin square as shown in Figure 3(a).1. Since 003 =0=103=3= 102 =0,
lo0=2=201l=0=303=1landlol=1=300=0= 203 =2, the
quasigroup so obtained is 1-inverse. Also, it is commutative.

It does not have the right inverse property, and so, as it is commutative, it is
not O-inverse. For example, (0o1l)o1lJ = (1o0)olJ =202 =3 # 0 and
(10o0)o0J =(001)00J =201 =0 # 1. However, because it is commutative, it
has a generalized right (and left) inverse property: namely, (boa)J o aJ? = bJ.
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Case (b). 001 =0. Since 002 =1 and 000 = 3, this forces 0 0 3 = 2. Then we
have

0ol=0=303=3=102=2 and 003=2=101=3=302=0,

as shown in Figure 3(a).2. This permits either 1c0=1o0r 100 =0.

In the former case, we have 1o0=1=200=0 = 203 =1, whence the entry
in the cell (2,1) must be 2. Then 201 =2=301=1= 300 =2 in a l-inverse
quasigroup. The entry in the cell (1,3) is now forced to be 0. The Cayley table so
obtained does represent a l-inverse quasigroup since 103 =0 =103 = 0 in such
a quasigroup. This quasigroup is non-commutative. (See Figure 3(a).3.) It does not
have the right inverse property and is not O-inverse. For example, (1 00) o 0J =
lol=3#1and (100)olJ=102=2#0.

()]0 1 2 3 (0)JO 1 2 3
03 2 1 0 03 0 1 2
1|22 ¥ 0 3t 1 3 2
2 |15 05 3 23 2 3 -
3000 3 2 1# 3 0 3
Fig. 3a.1. Fig. 3a.2.

In the alternative case when 100 =0, we have 1o0 =0=203=0= 103 =1.
There are two possible completions of the partial Cayley table so arising. (See
Figure 3(a).4.) It is easy to check that both completions define proper l-inverse
quasigroups and that one is commutative and one not. (In fact, 200 =1= 200 =1,
201 =2= 301 =1= 300 = 2 and, alternatively, 200 =2 =201 =1= 300 =1,
301=2=301=2)

(0)JO 1 2 3 ()]0 1 2 3
03 0 1 2 030 1 2
113 20 110 3 2 1
2 02 31 2 3.0
3121 0 3 3 0 3
Fig. 3a.3. Fig. 3a.4.

As regards the existence of 2-inverse or 3-inverse quasigroups, we have 0 o 0 =
u=1lo(u—2)=2= (u—1)o0 = 3 for a 2-inverse quasigroup. f u =1, 000=1=
0c0=3.Ifu=2,000=2=100=2. Ifu=3,000=3= 200 = 3. Each of these
implications is contradictory. If u =0,000=0=102=2=300=3=101=1.
Because 3-2+1 = 7 is relatively prime to 4, J is an automorphism of the quasigroup
and so we also have 2 0 2 = 2 which contradicts 1 02 = 2.

For a 3-inverse loop, 000 =4 = —4o(u—3) = =3 = (u—"T7)o(—2) = —3. That
is, 000 =u=00(u+1)=1= (u+1)0o2=1. J'is an automorphism of such a
quasigroup. Since J* is the identity mapping, it follows that J? is an automorphism.

111



Ifu=1,000=1=002=1.Ifu=3,000=3= 000 = 1. Each of these is
contradictory.

Ifu=2000=2=003=1= 302 = 1. Using the fact that J? is
an automorphism and that the body of the Cayley table must be a latin square,
we find that we obtain the Cayley table given in Figure 3a.5. Similarly, if u = 0,
0o0=0=001=1= 102=1, we find that we obtain the Cayley table given
in Figure 3a.6. Both Cayley tables represent 3-inverse quasigroups but neither is
proper. Each is also 1-inverse. Thus, proper m-inverse quasigroups of order four
with m > 1 do not exist, as we claimed.

(o) ‘ 01 2 3 (o) | 01 2 3
012 0 3 1 0110 1 3 2
113 1 2 0 112 3 10
211 3 0 2 211 0 2 3
310 2 1 3 313 2 01
Fig. 3a.b. Fig. 3a.6.

(b) m-inverse quasigroups of order 5 with an inverse cycle of length 5.

We assume that J = (012 ---4) and that 0 0 2 = v as usual. Arithmetic is
modulo 5.

When n = 5 is relatively prime to 3m+1: that is, when m # 5h+3, 0o (v—1) = 4
and 0o (6—v) = 2—v by Lemma 3.1. Also, J is an automorphism of the quasigroup.

If v = 3 or 4, the equalities 0 02 = v and 0 o (v — 1) = 4 contradict each other.
When v = 1, the equalities 0 02 = v and 0 o (6 — v) = 2 — v contradict each other.
When v =0,002=0,004 =4 and 0o 1 = 2 so the Cayley table takes the form
shown in Figure 3b.1 which clearly cannot be completed. When v = 2, 002 = 2,
0ol=4and 004 =0. In this case also, the Cayley table cannot be completed (see
Figure 3b.2). Thus, no 1, 2 or 4-inverse quasigroups of order 5 with a long inverse
cycle exist.

()]0 1 2 3 4 ()]0 1 2 3 4

0]- 20 4 0 2 0

110 31 - 1|1 0 3

2 L - 42 2 2 - 1 4

313 - 2 0 310 - 3 - 2

4 11 4 3 - 413 1 - 4
Fig. 3b.1. Fig. 3b.2.

For a 3-inverse loop, the automorphism J'© is the identity because J° is the
identity. We have aob=c= (b—4)o(c—3) =(a—3) = (¢—2)o(a—1) = (b—-2) =
aob = c so, in general, an entry ¢ in cell (a,b) determines the entries in two other
cells. However, ao(a—1)=(a+2) = ao(a—1)=(a—3). Sincea+2=a—3
mod 5, an entry a + 2 in cell (a,a — 1) determines no others. All together, there are
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25 = (8%x3)+1=(7x3)+4 cells to be filled so either one or four of the cells of
type (a,a—1) must contain a+ 2. An example of a 3-inverse loop for which 002 =1
and four of the cells (a,a — 1) contain a + 2 is given in Figure 3b.3.

002=1=303=2=404=0
0o0=3=100=2=104=3
0o3d=4=401=2=204=1
lo3=0=402=3=300=1
200=0=>102=4=301=3
lol=1=203=3=400=4
00l1=0=>202=2=304=4
0o0d4=2;201=4;302=0;403=1.

Fig. 3b.3.
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(c) m-inverse quasigroups of order 6 with an inverse cycle of length 6.

We assume that J = (012 ---5) and that 0 0 2 = v as usual. Arithmetic is
modulo 6.

In this case, n = 6 is relatively prime to 3m+1 for all values of m, so 0o(v—1) =5
and 0o (7—v) = 2—v by Lemma 3.1. Also, J is an automorphism of the quasigroup.

We find that when v = 3 or 5, the equalities 002 = v and 0o (v—1) = 5 contradict
each other. When v = 1, the equalities 0 0 2 = v and 0 o (7 — v) = 2 — v contradict
each other and, when v = 4, the equalities 0o (v —1) =5and 0o (7T—v) =2 —v
contradict each other. When v =0,002=0,005=5and 0o 1 =2. When v = 2,
002=2001l=5and 005 =0. Thus, v =0 or 2 are the only possibilities.

Let 003 = w. Then 0o (w—2) =4 and 0o (7—w) = 3—w by Lemma 3.1. When
v =0 or 2, we must have w = 1, 3 or 4. Each choice of w leads to a contradiction.
For example, 0 03 = 1 = 0 05 = 4 which is contradictory. Therefore, no m-inverse
quasigroups of order 6 with an inverse cycle of length 6 exist.

(d) m-inverse quasigroups of order 7 with an inverse cycle of length 7.

We assume that J = (012 --- 6) and that 0 02 = v. Arithmetic is modulo 7.

When n = 7 is relatively prime to 3m+1,00(v—1)=6and 0o (8 —v) =2—w
by Lemma 3.1. Also, J is an automorphism of the quasigroup. Since 0o (v —1) = 6,
v # 3 or 6 otherwise 002 = v and 0o (v — 1) = 6 are mutually contradictory. If
v = 1, the equalities 0 0 2 = v and 0 o (8 — v) = 2 — v are mutually contradictory.
Thus, v # 1, 3,6.

Ifv=0,002=0,006=06and 0ol = 2. Because J is an automorphism of
the quasigroup, aob = ¢ = (a+ h)o (b+ h) = (c+ h) and so the entries of the
left-to-right broken diagonals headed by 0 02 = 0,006 = 6 and 0 o1 = 2 in the
Cayley table of the quasigroup are all determined. We find that the entries of the
cells (a,a + 3) are then forced. In particular, 003 = 5. By Lemma 3.1, 003 =5
does not determine any other entries of row 0. So 0 o4 = 1 or 3. By Lemma 3.1,
0o4 = 1 implies that 005 = 4 and 000 = 3. We obtain the quasigroup illustrated in
Figure 3d.1 which is a 0-inverse quasigroup (crossed-inverse quasigroup). Similarly,
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004 = 3 implies that 000 = 4 and 0 o 5 = 1. We obtain the quasigroup illustrated
in Figure 3d.2. This also is a O-inverse quasigroup.

Ifv=2002=2001=6and 006 =0. Again the entries of the cells (a,a+ 3)
are forced and, in particular, 003 = 5. Again 004 =1 or 3. We obtain two further
0-inverse quasigroups.

Ifv=4002=4,003=6and 004 = 5. Since J is an automorphism, these
equalities respectively imply that 500 =2,400 =3 and 300 = 1. Also, they imply
that 406 =1,306 =2 and 206 = 0. The equalities 000 = 0 and 00 6 = 3 are then
forced. By Lemma 3.1, 000 =0=001=1and 006 =3 = 005 = 2. The Cayley
table cannot be completed since 0 o0 =0=1lol=1and 0o5=2=106=3
because J is an automorphism.

If v=>5 wehave 002 =5, 004 =6and 003 =4 whence 500=3,300=2
and 400 =1. Also, 406 =2,206=1and306=0. 0o0=0and 006 = 3 are
again forced and the Cayley table cannot be completed.

o Ul W = oo

)
— T o O wlo
S =T S ]
SO oot w Ol
= =T S O
GO O U O |
G O W O |t
OO =Wl o
S W~ oo

)
— T O WO o
DD W DO = = Ut
- N =1 "
OO WO~ ot
O = TR O W
i R R = O
WO oo

Fig. 3d.1. Fig. 3d.2.

Thus, no proper m-inverse quasigroups (m > 0) of order 7 with an inverse cycle
of length 7 exist when 3m + 1 is relatively prime to 7. This leaves the case when
m = 2. In this case,

aob = ¢ = (b—3)o(c—2) = (a—2) = (¢—5)o(a—4) = (b—5) = (a—T)o(b—T7) = (c—=7)

which is equivalent to a o b = ¢ since addition is modulo 7. Thus, in general, each
relation a o b = ¢ implies two others. Therefore, putting entry c in cell (a,b) forces
two other entries. However, ao (a+3) = a+5 = ao(a+3) = a—2. Since
a—2=a+5 mod 7, it is permissible to put the entry a + 5 in the cell (a,a + 3)
without contradiction but such an entry forces no others.
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0c0=1=406=5=303=2

o)|]0 1 2 3 4 5 6
(o) 0ol=3=501l=5=503=3
01 3 05 2 6 4

0o2=0=605=5=203=4
115 4 2 0 6 3 1

0o4=2=100=5=403=6
212 6 1 4 5 0 3

0o5=6=>204=5=103=0
313 05 2 1 46

0o6=4=>302=5=603=1
4 101 3 6 4 2 5

lol=4=502=6=604=3
514 5 6 3 0 1 2
616 24135 0 102=2=600=6=404=4

lob=3=201=6=504=0

300=3=>401=1=506=2

169 —3=60l—92=500—4 lo6=1=306=6=304=1

200=2=400=0=405=2
202=1=606=0=305=4
003=5104=6;205=0;602=4 906=3=301l=0=505—1

Fig. 3d.3.

Since there are 49 = 48 +1 =45 4+ 4 = 42 + 7 cells to be filled with entries from
the set {0,1,2,...,6} and this is not a multiple of three, either 1, 4, or 7 of the cells
(@, a+ 3) must have an entry of the form a+ 5. In our example above (Figure 3d.3),
just four of the cells (a,a + 3) have a + 5 as entry.

It is easy to check that the above quasigroup is not O-inverse. For example,
(0ol)o0J=301=0#1.

(e) m-inverse quasigroups of order 8 with an inverse cycle of length 8.

We assume that J = (012 --- 7) and that 0 0 2 = v. Arithmetic is modulo 8.

When n = 8 is relatively prime to 3m+ 1: that is, when m is even, 0o (v—1) =7
and 0o (9 —v) = 2 — v by Lemma 3.1. Also, J is then an automorphism of the
quasigroup.

Ifv=0,002=0,007=7and 0ol =2. Ifv=1,002=1,000=7and
000 = 1; which are contradictory. If v =2, 002=2, 001 =7and 007 = 0. If
v=23,002=3002=7and 006 = 7; which are contradictory (as in Corollary
32). fv=4,002=4003=T7Tand 005=6. fv=5,002=5 004 =7 and
004 = 5; a contradiction. If v =6,002=6,005=7and 003 =4. Ifv =17,
002=7,006=7and 002 = 3; which are contradictory. Thus, when m is even,
v =0,2,4 or 6 are the only possibilities.

Since in general, by Lemma 3.1, the entry k in cell (0, h) determines the entries
9—h and 8 — k+h in the two other cells (0, k—h+1) and (0,9 — k) of row 0 and since
there are all together eight cells of this row to be filled, some coincidences among
these cells must occur. However, such a coincidence occurs only when h = 6 and
k = 3 and then all three of the cells coincide. In each of the possible cases v =0, 2,4
or 6, this leaves four cells of row 0 to be filled. Since each remaining cell that is filled
determines two others distinct from it that are also filled, it is impossible to complete
row 0 in such a way as to define a 2, 4 or 6-inverse quasigroup. We conclude that no
2, 4 or 6-inverse quasigroups of order 8 with a long inverse cycle exist.
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01 2 3 4 5 6 7
0 ‘
1 A B
2
3
4
5 B+4 A+4
6
7

Fig. 3e.1.

We look next at 1-inverse quasigroups. We have aob=c = (b—2)o (c—1) =
(a—1) = (¢—3)o(a—2) = (b—3) = (a—4)o(b—4) = (c—4) or (a+4)o(b+4) = (c+4)
since addition is modulo 4. That is, J* is an automorphism. Since J® is the identity,
the multiplication of such a quasigroup takes the form shown in Figure 3e.1. However,
we need to analyse the structure more precisely (cf. l-inverse loops of order 9). In
general, the entry in the cell (a,b) determines five other entries as follows:

acb=c (b—2)o(c—1)=a—1 (c=3)o(a—2)=b—-3

(a—4)o(b—4)=c—4 (b+2)o(c+3)=a+3 (c+1)o(a+2)=0b+1
Since J = (012 --- 7), we have

ao(la—2)=a+3= (a—4)o(a+2)=(a—1) =ao(a—2)=a—5(=a+3 mod 8)

as in the case of loops of order 9. The entry ¢ in each other cell (a,b), b # a — 2,
determines five others. There are 64 cells to be filled so, since 64 —4 = 60 is divisible
by 6 and there are only eight cells of type (a,a — 2), just four of these latter must
contain the entry a + 3.

Also, as in the case of a l-inverse loop of order 9, no cell of type (a,a + 2) can
contain an entry a+3 or a— 1 otherwise unique solubility of equations is contradicted.

Quasigroups satisfying these necessary conditions do exist. An example is given
in Figure 3e.2.

01 2 3 45 6 7
02 3 4 71 0 6 5
113 06 25 1 7 4
217 2 5 6 0 3 41
310 6 1 4 2 5 3 7
415 4 2 1 6 7 0 3
5/1 5 3 0 7 4 2 6
6/4 7 0 5 3 6 1 2
76 1 7 3 4 2 5 0

Fig. 3e.2.
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It remains to resolve the much harder question of whether proper 3, 5 or 7-inverse
quasigroups of order 8 with a long inverse cycle exist (cf. loops of order 9 with a
long inverse cycle).

(f) m-inverse quasigroups of order 9 with an inverse cycle of length 9.

We assume that J = (012 --- 8). Arithmetic is modulo 9. Let 0ol = u, 002 = v,
003 =wand 0o4 = z. Since n = 9 is relatively prime to 3m + 1 for all values of
m, we can make use of Lemma 3.1 so

Ool=u=0ou=0=00(l-u)=1—-u (=00l=u)
0o2=v=00(v—-1)=8=00(l-v)=2—-0v (=002=0),
0o3=w=00(w—-2)=7=00(l-w)=3—-w (=003=w),
0od=z=00(z—-3)=6=00(l—z)=4—2 (=004d=u2).

Also, J is an automorphism of the quasigroup.

We find that v = 0,1,5; v = 1,3,8; w = 5,6,7; and x = 2,6, 7 lead immediately
to contradictions.

Case (a) 001 =2=002=0and 008 =38.
Case (b) 001=3=003=0and 007 ="7.
Case (c)0ol=4=004=0and 006 =6.
Case (d)0ol1=6=006=0and 004 =4.
Case () 0ol=T7=007=0and 003 =3.
Case (f) 001 =8=008=0and 002 =2.
Case (A)0o2=4=003=8and 006 =".
Case (B) 002=5=004=8and 005 =6.
Case (C) 002=6=005=8and 004 =5.
Case (D) 0o02=7=006=8and 003 =4.

(The remaining values of 0 o 2 are already covered or lead to contradictions.)

0o3=1=008=7and 000 =2. 0ocd=1=007=6and 000 =3.
003=2=000=T7and 008 =1. 0o4=3=000=6and0o7=1.
(The remaining values of 0 0 3 and 0 o 4 are already covered.)

Trial of the various cases shows that the first row of the Cayley table (that
representing the products 0 o z) cannot be completed. For example, if Case (a) is
assumed, then the two possible entries for 0 o 3 give contradictions. If Case (b) is
assumed, then Cases (A) and (D) are not possible. If 0 02 = 5 (Case (B)), then
0c1=3,002=5,003=0,004=8,005=6and007="7,50000=1,20r4. By
Lemma 3.1,000=1=002=1,000=2=003=1,000=4=005=1, all of
which are contradictory. If 0 02 = 6 (Case (C)), then 001 =3,002=6,003 =0,
0o4=5005=8and007=7,s0000=1,2 or 4 as before and each of these
values leads to a contradiction.

We conclude that no m-inverse quasigroups of order 9 with an inverse cycle of
length 9 exist.
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(g) Summary of results regarding proper m-inverse quasigroups with
a maximum length inverse cycle,m > 0.

For all orders up to nine inclusive, proper m-inverse quasigroups with a maximum
length inverse cycle do not exist when 3m + 1 is relatively prime to n.

For order 4, only 1-inverse quasigroups exist.

For order 5, only 3-inverse quasigroups exist.

For order 6, no m-inverse quasigroups (m > 0) exist.

For order 7, only 2-inverse quasigroups exist.

For order 8, 1-inverse quasigroups exist. There are no 2, 4 or 6-inverse quasi-
groups. The existence of proper 3, 5 or 7-inverse quasigroups remains to be investi-
gated.

For order 9, no m-inverse quasigroups exist.

Note. Our investigation of the case when n = 7 shows that it is probable that, for
larger n, proper m-inverse quasigroups (m > 0) with an inverse cycle of maximum
length do exist when 3m + 1 is relatively prime to n.

IV. A direct product construction

Let (Q1, 0) and (@2, X) be m-inverse quasigroups with respect to the permutations Jj,
Jy of @Q1, Q2 respectively. Define (xy,x2)J = (21J1, x2.J5), where J is a permutation
of Q1 x Q2. Let |Q1] = ny and |Q2| = na.

We may define a binary operation (®) on Q1 X Q2 by (x1,22) ® (y1,%2) = (21 0
Y1, T2 X y2). Then, since (2, 0 y1)JJ" 0 21 J7" ™ = 41 J™ and (w5 X yo) J5" X 2o J5" T =
y2J3", we have

[(z1,22) ® (y1, 42)] T " ® (21, ) S

= (z10y1, 2 X y2)J" ® (361,532)‘]7”+1
= [(z1 0 y) 7", (w2 X y2)J3"] @ (w1 7, w0 I3 )

[(.Z'l o yl) 1 00X ] +1 (1’2 X y2)=]2 X 1’2J§n+1}
( 1 7y2 )
= (y1,y2)J™.

Thus, (@1 X Q2,®) is an m-inverse quasigroup of order nins relative to the permu-
tation J of Q1 X Q2. Moreover, if at least one of (Q1,0) and (Qs, X) is proper, then
the direct product will be proper.

If J; defines a long inverse cycle of length h; of (Q1,0) and J; defines a long
inverse cycle of length hs of (@2, X), then J defines an inverse cycle of (Q1 X Q2, ®)
of length equal to the least common multiple of h; and hs.

We have proved:

Theorem 4.1 Let (Q1,0) and (Q2, X) be m-inverse quasigroups with respect to the
permutations Jy, Jo of Q1, Q2 respectively of which at least one is proper. Then, their
direct product will be a proper m-inverse quasigroup with respect to the permutation

J of Q1 x Q defined by (x1,72)J] = (211, 12.J2).
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Example 4.1 Let (Q1,0) and (Q2, X) be respectively the O-inverse quasigroup of
order 7 whose Cayley table is given in Figure 3d.1 and the proper 3-inverse quasi-
group of order 5 whose Cayley table is given in Figure 3b.3. Since every 0-inverse
quasigroup (Q1,0) is also a 3-inverse quasigroup (because the permutation J; is an
automorphism), the direct product is a proper 3-inverse quaigroup of order 35 and
has a long inverse cycle of length 35 (equal to the LCM of 7 and 5).

Clearly, we may use a similar procedure to obtain the direct product of any
number of m-inverse quasigroups.

V. A generalization: (r,s,t)-quasigroups

We may generalize the concept of an m-inverse quasigroup in the following way:

Definition. Suppose that there exists a permutation J of the elements of a quasi-
group (Q,o) such that, for all a,b € Q, (a0 b)J" oaJ® = bJ'. Then (Q,0) is an
(r, s, t)-inverse quasigroup.

Let us first observe that
Lemma 5.1 An (r, s, t)-inverse loop (L, o) with identity element e in which acaJ = e
for all a € L is an r-inverse loop.

Proof. Suppose that (aob)J"oaJ® = bJ' (Equation 1) for all pairs of elements a, b in
a loop with identity element e. Since e o eJ = e, we have eJ = e and so eJ* = e for
all positive integers u. If we put a = e in Equation 1, we get bJ" o eJ® = bJ'. That
is, bJ" o e = bJt. Therefore, bJ" = bJ! and so t = r. If we put b = ¢ in Equation 1,
we get aJ" o aJ® =eJ' = e and so aJ* = (aJ")J. It follows that s = r + 1.

Thus, s =7+ 1 and ¢ = r so the loop is r-inverse.

We shall discuss the construction of (r, s, t)-inverse quasigroups in a forthcoming
paper.
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